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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet.

1-  Members of the Semitic language family are employed as official administrative
languages in a number of states throughout the Middle East and the
sesnsannsnnssnsannes AFCAS,

1) dormant 2) adjacent

3) resilient 4) inherent

2-  Middle Persian and Parthian, extinet West Iranian languages, were doubtlessly
similar enough to be mutually ...................., but they differ so greatly from the
castern group of Middle Iranian languages.
1) plausible 2) resistible
3) intelligible 4) negligible

3~ Pashto became the official language by roval .................... in 1936, and since
then literary activity has been encouraged by the Pashto Society of Kabul.
1) decree 2) trigger
3) margin 4) inquiry

4-  Since Jane wants to .................... the size of the cake, she is going to double the
amount of the ingredients in the recipe.
1) fabricate 2) augment
3) intrigue 4) improvise

5-  Scientists have produced a drug which is given to cows to aid in the .........oceeennnnn.
of certain cells responsible for producing milk.

1) retaliation 2) excavation
3) amputation 4) proliferation

6-  After receiving over two hundred resumes, the human resources department must
NOW ..covvverenennnnnn dll of the potential candidates to find the ideal person for the
position,
1) scrutinize 2) jeopardize
3) glamorize 4) stigmatize

7-  To sell his company’s products, the sly salesman used .................... to avoid
directly answering the woman’s questions,
1) circumvallation 2) circumfusion
3) circumlocution 4) circumsceription

8- After conducting an investigation, the detective was able to uncover the
cassssnrasssssassass plOt devised by the victim’s daughter.
1) courteous 2) tenacious
3) vigorous 4) devious

9-  Only the diamond expert could see the ........ccceevnne difference hetween the real
diamond and the fake one,
1) ritual 2) subtle
3) chaotic 4) deviant
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10- While the prisoners were of different races, they all joined in .........ovvvvveee to
protest their dirty living conditions,
1) solidarity 2) prosperity
3) diversity 4) eligibility

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet,

Of the Saka dialect known as Tumshuq very little has survived, and despite its evidently

close relationship to the (11) .............cc..... better known Khotanese dialect, full
interpretation (12) .....ccoeeneens veesns difficuli. Knowledge of Khotanese is more firmly
based on a(n) (13) ...cecvvvevnvnerann corpus of material, including extensive hilingual texts.

(14) .oevievrvvninnsennn the chronological range of the extant Khotanese material is limited
to only (15) ...iiiieiinniananen centuries, prohably the 7th to the 10th, a rapid development
of the language is apparent. At the phonological level, most noticeable is the loss of
syllables between the older and later stages of the language.

11- 1) very 2) 80
3) much 4) much too
12- 1) is proved 2) was proved
3) has proved 4) had proved
13- 1) competent 2) substantial
3) persistent 4) industrious
14- 1) Owing to 2) As long as
3) However 4) Although
15 1)afew 2) few
3) little 4) a little

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Armenian forms an independent branch of the Indo-European language family.
Although Armenian was spoken in areas neighboring those inhabited by speakers of
Anatolian languages, it shares few significant linguistic features with the Anatolian
subgroup of Indo-Ewropean. Its closest linguistic relatives are Greek and the Indo-
Iranian subgroup. These three branches of Indo-European show shared developments in
their morphology and vocabulary which are not found in other Indo-European
languages.

Some scholars have thought that the agreements between Armenian and Greek are
sufficient to allow the recomstruction of a Helleno-Armenian subgroup of Indo-
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European, but their arguments are not conclusive, since it cannot be clearly proved that
the agreements represent shared common innovations. Others, relying on an ancient
tradition that the Armenians were a “colony of the Phrygians” (Herodotus, 7.73) have
tried to identify developments shared by Armenian and Phrygian, but have met with
little suceess. Some of the phonetic developments which have been elaimed for Phrygian
also took place in Armenian, but all too often these sound changes rest upon very
uncertain etymologies, and the close link between the languages is called into question
by several well-established Phrygian forms.

The position of Armenian as a separate branch of Indo-European was not recognized
until 1875 by Heinrich Hiibschmann. Before that date most comparativists believed
Armenian to be an Iranian language, mistakenly taking the large number of Iranian
loanwords in Armenian to represent the inherited vocabulary. Their inability to isolate
the “native” stratum of vocabulary in Armenian is understandable: only a small
number of words are directly inherited from Proto-Indo-European, and these have
undergone a series of intricate sound changes which make many forms unrecognizable.

16- Which of the following statements is TRUE?
1) Armenian was never used by people living in areas where Anatolian languages
were spoken.
2) Armenian shares a lot of lexical and morphological developments with the
Indo-Iranian subgroup.
3) Armenian shares many linguistic features with the Anatolian subgroup of
Indo-European.
4) The three branches of Indo-European mentioned in paragraph 1 are Anatolian,
Greek and the Indo-Iranian subgroup.
17-  What does the word “their” in paragraph 1 refer to?
1) Linguistic features 2) These three branches
3) Developments 4) Languages
18- Which of the following could be understood from the passage?
1) The similarities between Armenian and Greek have ancient historical roots
dating back to Herodotus.
2) The attempt to reconstruct a Helleno-Armenian subgroup has been successful.
3) There can be no doubt that Armenian and Phrvgian have shared etymologies.
4) There are some phonological similarities between Armenian and Phrygian.
19-  Which of the following statements is TRUE about Heinrich Hiibschmann?
1) He pointed to a large number of Iranian loanwords in Armenian.
2) He proved Armenian to be an Iranian language in the 19" century.
3) He showed that Armenian was an independent branch of Indo-European.
4) His inability to extract words directly inherited from Proto-Indo-European
resulted in inconclusive attempts.
20-  What does the word “intricate” in paragraph 3 mean?

1) Complicated 2) Innovative
3) Mysterious 4) Prominent
Passage 2:

Written statements of laws—law (or legal) codes—were compiled by the most ancient
peoples. The oldest extant evidence for a code is tablets from the ancient archives of the
city of Ebla (now at Tell Mardikh, Syria), which date to about 2400 BC, The best known
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ancient code is the Babylonian Code of Hammurabi. The Romans began keeping legal
records, such as the Law of the Twelve Tables (451450 BC), but there was no major
codification of Roman law until the Code of Justinian (AD 529-565), which was
compiled long after the dissolution of the Western Empire. The peoples who overran the
Western Empire also made codes of law, such as the Salic Law of the Salian Franks.
During the later Middle Ages in Europe, various collections of maritime customs, drawn
up for the wse of merchants and lawyers, acquired great authority throughout the
continent. From the 15th through the 18th century, movements in various European
countries to organize and compile their numerous laws and customs resulted in local
and provincial compilations rather than national ones. The first national codes
appeared in the Scandinavian countries in the 17th and 18th centuries.

21-  What is the passage mainly about?
1) The way ancient peoples compiled codes of law
2} Codification of European laws
3) The Code of Hammurabi
4) Ancient codes of law
22-  Which of the following statements is TRUE?
1) The Romans kept laws but they were not codified till the 6th century.
2) The best known ancient code dates back to about 2400 BC.
3) The oldest surviving code of law is that of Hammurabi.
4) The best known ancient code exists in Tell Mardikh.
23-  Which of the following is closest in meaning to the word “overran” in line 77
1) Admired 2) Restored
3) Occupied 4) Established
24-  Which of the following should the Scandinavian countries be credited for?
1) Codification of the first maritime laws
2) Compilation of the first national laws
3) Codification of the first local and provincial laws
4) Helping merchants and lawyers with the first set of occupational laws
25-  What does the word “their” in line 12 refer to?

1) Laws 2) Movements
3) Customs 4) European countries
Passage 3:

(M the ancient Iranian languages, only two are known from texts or inseriptions,
Avestan and Old Persian, the oldest parts of which date from the 6th century BC.
Avestan (an extinct East Iranian language) was probably spoken in northeastern Iran,
and Old Persian (an extinct West Iranian language) is known to have been used in
southwestern Iran. Other ancient Iranian languages must have existed, and indirect
evidence is available concerning some of these. Thus, from the Sth-century BC historian
Herodotus, the Median word for “female dog” (spaka) is known, and a number of
Median loanwords have been recognized in the Old Persian inscriptions. In addition, a
number of Median personal names are attested in various sources. It is likely that all
those languages that are known only from the Middle Iranian period were in fact spoken
in a less developed form in the ancient period. It is possible that the same observation
applies to some of those modern Iranian languages that are not attested in the earlier

periods.
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The degree of mutual intelligibility that existed among the ancient Iranian languages
is not known with certainty. The differences in the nature of the surviving sources have
to be borne in mind. On the one hand, there is the religious poetry of Zoroaster in the
Avestan language and, on the other, the official inscriptions of the Achaemenid rulers in
Old Persian. Differences in the method of transmission present a further difficulty in the
way of direct comparison. Nevertheless, it can safely be stated that the degree of mutual
intelligibility must have been much greater between the ancient languages than between
the Middle Iranian languages and that those languages geographically closer to each
other probably were mutually understood better than those spoken in areas farther
apart.

26-

27-

28-

Which of the following statements is TRUE?

1) Avestan is an extinct language that was spoken in southwestern Iran.

2) Today. there are only two ancient Iranian languages that we know about.

3) The word spaka. originally an Avestan word, was used in Old Persian texts.

4) The Sth-century BC historian Herodotus was familiar with a lot of Median
loanwords.

What does the word *which” in paragraph 1 refer to?

1) Avestan and Old Persian 2) Texts

3) Ancient Iranian languages 4) Inscriptions

What is the function of the underlined sentence in paragraph 1 in relation to the

sentence preceding it?

1) It contradicts it.

2) It provides a counterexample.

3) It adds further information to it.

4) It serves as a cause for a previously mentioned effect.

Why is the degree of mutual intelligibility that existed among the ancient Iranian

languages not clearly known?

1) These languages were geographically very close to one another.

2) The religious poetry of Zoroaster in the Avestan language is not fully
understood.

3) The official inscriptions of the Achaemenid rulers in Old Persian are not fully
analy zed.

4) The differences in the nature of the surviving sources are often not taken into
account.

What does the word “present” in paragraph 2 mean?

1) Prevent 2) Repair

3) Create 4) Worsen
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